MAHARASHTRA STATE ELECTRICITY TRANSMISSION CO.LTD.

(CIN No. U40109MH2005SGC153646)

From:- Executive Engineer (Civil)

EHV Civil Construction cum Maintenances Division Nashik
"Administrative Building", Block No. 6, 1st floor, Racca Plot,
Old Saikheda Road, Jail Road, Nashik Road-422 101.

Ph No.:-0253-2403101 (O), Extension Phone No, 0253-2403110

E-Mail ID :ee5710@mahatransco.in Website: www.mahatransco.in

Ref. No. EEC/EHV/CCCM Dn/NSK/Tech- No - 2 0 2 - Date: 23 FEB 2022

e- Quotation

Sealed and superscripted e- quotations are invited for the work of "Miscellaneous works and Electrification work for new extended control room at 132 KV Dindori STN, Nashik, MSETCL." As detailed in schedule "B" is enclosed herewith subject to following terms and conditions.

Name of Work:- Miscellaneous works and Electrification work for new extended control room at 132 KV Dindori STN, Nashik, MSETCL.

The quotations should reach to this office on or before 01/03/2022 up to 15.00 Hrs

- The rates [percentage] should be quoted on Firm Quotation basis (Two Bid System only) including cost of materials, labours & T&P etc. required for execution of the work.
 - (a) Compulsory Primary Documents in 1st Envelop:(Technical Bid)
 - (i) Valid Certificate of Electrical Contractor License and registration.
 - (ii) GST/ GSTIN Registration Certificate.
 - (iii) Experience of having successfully completed similar types of works.
 - (iv) PAN card.
 - (v) Shop Act certificate/ Udyog Adhar Registration.
 - (vi) Payment of EMD Rs. 3670.00 to be made by bidder off-line only, upto 14.00 hrs of 01/03/2022 in the office of EE(C), Dn., Nashik. EMD details Amount and M.R. No. should be super-scribed on the Envelope and having registered vendor of MSETCL.
 - (b) Documents in 2nd Envelop: (Price Bid)
 - i) Price bid only where in the rates/percentage should be quoted in figures as well as in words.

NOTE:- Envelop No.2 (Price Bid) will be opened after qualifying in (Technical Bid) Envelop No.1

- The quantities enumerated in here attached Schedule B are approximate, however the payment will be made against actual executed quantities on site.
- 3) The work should be completed within 15 days from the date of handing over the site to commence the work, failing of which a penalty at ½% per week subject to the maximum 10% of the ordered value will be imposed.
- 4) The work should be strictly carried out as per standard specifications & up to the entire satisfaction of the Engineer-in-charge.

- 5) No materials will be supplied by the MSETCL for this work except materials as shown in Schedule A
- 6) Payment will be made through First & Final bill/ R.A. bill basis at the discretion of undersigned.
- 7) The contractor will have to pay security deposit to this office equal to 5% of the ordered value.
- 8) In case any accident occurred to the Contractor's labour/workmen during execution of work, the contractor will be fully responsible for all claims & compensation. No charge in any case will be borne by the MSETCL

9) The materials to be utilized for the work should be getting approved from the Engineer-in-charge prior to its utilization for the work.

10) The terms &conditions enumerated in the approved Booklet "TENDER AND CONTRACTOR FOR WORKS" will be applied in this case & will be binding on the contractor entirely.

11) Right to accept any or to reject any or all the quotations without assigning any reason there of is reserved by the undersigned.

12) Payment will be released to agency as per availability of funds. Further MSETCL will not pay any compensation due to non availability of funds.

Yours faithfully,

(V. M. Dhore)
Executive Engineer [Civil]
EHV Civil CCM Dn Nashik.

Copy s.w.r.to.-

The Superintending Engineer (Civil) EHV CCCM Circle, Nashik.
 Copy to-

- 1) The Dy. Manager [F&A] Dn. Office, Nashik.
- 2) Master File/Notice Board.

MAHARASHTRA STATE ELECTRICITY TRANSMISSION CO.LTD EHV CCCM Division, Nashik

Name of work:-Miscellaneous works and Electrification work for new extended control room at 132 KV Dindori STN, Nashik, MSETCL.

SCHEDULE 'B'

Sr.	Item	Description	Qty.	Unit	Rate	Amount
1	1-3-6	Supplying & erecting mains with 2x4 sq.mm FRLSH copper PVC insulated wire laid in provided conduit/trunking/inside pole/Bus bars or any other places. as per specification No: WGMA/BW	40.00	Mtr	83.00	3320.00
2	1-3-4	Supplying & erecting mains with 2x2.5 sq.mm FRLSH copper PVC insulated wire laid in provided conduit/trunking/inside pole/Bus bars or any other places. as per specification No: WGMA/BW	75.00	Mtr	61.00	4575.00
3	1-3-2	Supplying & erecting mains with 2x1.5 sq.mm FRLSH copper PVC insulated wire laid in provided conduit/trunking/inside pole/Bus bars or any other places as per specification No: WGMA/BW	42.00	Mtr	40.00	1680.00
4	1-1-9	Supplying & laying HMS PVC conduit 25 mm dia with necessary accessories in RCC work/false ceiling/false flooring	100.00	RMT	112.00	11200.00
5	1-2-10	Supplying and erecting PVC trunking (PVC casing- n-capping) of size 25 mm with accessories on wall/ceiling as per specification No: WG-MA/CON.	30.00	Mtr	38.00	1140.00
6	1-7-7	Supplying and erecting Ceiling rose / Batten holder / Slanting holder / hanging cord switch / hanging bell push / pendent holder bakelite base 6A. erected on filled polypropylene board or polished double wooden block/ PVC junction box	15.00	EA	35.00	525.00
7	1-8-36	Supplying and erecting unbreakable concealed type modular switch box with double mounting plate for 3 module duly erected flush to wall with required chiselling and finishing with cement mortar / POP as per required to match the background.	7.00	EA	231.00	1617.00
8	1-8-39	Supplying and erecting unbreakable concealed type modular switch box with double mounting plate for 6 module duly erected flush to wall with required chiselling and finishing with cement mortar / POP as per required to match the background.	2.00	EA	375.00	750.00
9	1-8-40	Supplying and erecting unbreakable concealed type modular switch box with double mounting plate for 12 module duly erected flush to wall with required chiselling and finishing with cement mortar / POP as per required to match the background.	18.00	EA	476.00	8568.00
10	1-8-41	Supplying and erecting unbreakable concealed type modular switch box with double mounting plate for 16 / 18 module duly erected flush to wall with required chiselling and finishing with cement mortar / POP as per required to match the background.	8.00	EA	537.00	4296.00

Sr.	Item	Description	Qty.	Unit	Rate	Amount
11		Supplying and erecting ISI mark modular type switch 16 / 20 A with indicator, duly erected on provided plate and box with wiring connections complete.	9.00	EA	134,00	1206.00
12	1-8-11	Supplying and erecting ISI mark modular type 3 pin 6 / 16A multi socket with safety shutter, duly erected on provided plate and box with wiring connections complete.	9.00	EA	1,66.00	1494.00
13	1-9-9	Point wiring for light/fan/bell concealed type in min 20 mm ISI marked HMS PVC conduit with 1.5 sq.mm. (2+1E) FR grade copper wires, modular type switch, earthing and required accessories as per specification No: WG-PW/CW	35.00	Point	635.00	22225.00
14	1-9-11	Point wiring for independent plug, concealed type in min 20 mm ISI marked HMS PVC conduit with 1.5 sq.mm (2+1E) FR grade copper wires, modular type switch and socket, earthing and required accessories as per specification No WGPW/ SW	15.00	Point	687.00	10305.00
15	1-8-23	Supplying and erecting ISI mark modular type (two module) electronic step regulator for fan, duly erected on provided plate and box with wiring connections complete.	20.00	EA	368.00	7360.00
16	1-8-1	Supplying and erecting ISI mark modular type switch 6A / 10A duly erected on provided plate and box with wiring connections complete.	205.00	EA	70.00	14350.00
17	1-8-10	Supplying and erecting ISI mark modular type 3 pin 6A multi sockets with safety shutter, duly erected on provided plate and box with wiring connections complete.	27.00	EA	113.00	3051.00
18	2-1-23	Supplying & erecting LED 20W tube light fitting (4 feet) with aluminium housing, heat sink, integrated HF electronic driver complete.	32.00	EA	926.00	29632.00
19	2-12-21	Supplying and erecting five star rated energy saving Ceiling fan 230 V A.C. 50 cycles 1200 mm complete erected in position as per specification no. FG-FN/CF	14.00	EA	2042.00	28588.00
20	2-1-10	Supplying and erecting square / rectangular shaped CRCA /die-cast aluminium powder coated housing LED panel (slim edge-lit) light suitable for 25 to 32W with provision for plane front frame with translucent cover fixed to the housing complete.	2.00	EA	3148.00	6296.00
21	2-1-11	Supplying and erecting square shaped CRCA /die- cast aluminium powder coated housing LED panel light (slim edge-lit) 600x600mm suitable for 36 W- 40W with provision for plane front frame with translucent cover fixed to the housing complete.	16.00	EA	3741.00	59856.00
22	9-1-3	Providing earthing with galvanized iron earth plate size 60 x 60 x 0.6 cm with funnel with a wire mesh for watering and brick masonry block C.l. cover complete with all materials, testing & recording the results as per specification no. EA-EP	1.00	EA	5476.00	5476.00

Sr.	Item	Description	Qty.	Unit	Rate	Amount
23	5-4-16	Supplying and erecting single pole and neutral distribution board (SPNDB) surface/flush mounted with 2 poles for incoming and 10 poles for outgoing SP MCB's on iron/ GI frame as per specification no. SW-SWR/MCBDB	1.00	EA	1011.00	1011.00
24	5-3-20	Supplying erecting and marking double pole isolator only switch version of miniature circuit breaker of 40A with required wiring connections and lugs etc. in provided distribution board complete.	1.00	EA	293.00	293.00
25	5-3-10	Supplying, erecting & marking SPN MCB 6A to 32A, Cseries (for motor/power) in provided distribution board as per specification no. SW-SWR/MCB	5.00	EA	451.00	2255.00
26	5-3-16	Supplying, erecting & marking FPMCB 6A to 32A in provided distribution board as per specification no. SW-SWR/MCB	1.00	EA	955.00	955.00
27	5-3-18	Supplying, erecting & marking TPN MCB 6A to 32A, Cseries in provided distribution board as per specification no. SW-SWR/MCB	2.00	EA	939.00	1878.00
28	2-9-4	Supplying and erecting street light Wall bracket made from 40 mm. dia 'B' class G.I. pipe 1.2 m in total length complete as per specification no. FG-BKT/WB	6.00	EA	712.00	4272.00
29	2-5-15	Supplying and erecting LED Flood light fitting of 90- 100W, including lamp, with PF > 0.95, class IP 65 and above housing of pressure die cast aluminium alloy and heat sink extruded aluminium complete per specification No FGODF/ FLS-2	5.00	EA	10002.00	50010.00
30	2-5-18	Supplying and erecting LED Flood light fitting of 200W, including lamp, with PF > 0.95, class IP 65 and above Housing of pressure die cast aluminium alloy and heat sink extruded aluminium complete per specification No FGODF/ FLS-2	1.00	EA	22565.00	22565.00
ME					Total Rs.	310749.00 55934.82
	Add GST 18					
					Total Rs. Say Rs.	366683.82 366684.00

Executive Engineer (Civil) EHV CCCM Dn Nashik.

I / We hereby agree to carryout the above work as under :-

- a) At estimated cost.
- b) Above......% in words......Of Estimated cost in Schedule "B"
- c) Below......% in words......Of Estimated cost in Schedule "B"
- I/ We have read the instructions and the same are binding on me / us.